Chapter 11
Learned Reinforcers and Learned Aversive Conditions

17. Extinction of a previously reinforced response vs. removing the value of learned reinforcers and aversive conditions by stopping the paring procedure.

a. What’s the common confusion?
 
b. Compare and contrast extinction and the removal of the value of a learned reinforcer.
c. Illustrate the differences between these two procedures with a pair of examples from the Skinner box
ANSWER: 

 Reinforcement
Extinction

Pairing procedure used to ESTABLISH the dipper click as a learned reinforcer

Breaking the pairing procedure to REMOVE the value of the learned reinforcer


d. Using the examples that you’ve provided, please explain the differences between the two concepts using the terminology that you had provided in your answer to 15b.
NOTE: (you do not need to know this for the test, but it provides a rationale for why some people may confuse these two concepts)  

While breaking the pairing between a learned reinforcer and an unlearned reinforcer may lead to extinction; performing an extinction procedure does not lead to the removal of the value of a learned reinforcer.  

For example: If you were to stop pairing water with the dipper click, but continue to give Rudolph the dipper click contingent upon lever presses, the lever press would extinguish.  However extinguishing the response (i.e. not presenting ANYTHING contingent upon a response; including either the dipper click or water) will not lead to the removal of the reinforcing value from the dipper click.  If, after the extinction procedure, the dipper click were to again be presented contingent upon a response (while occasionally being paired with water) it will have retained its reinforcing value.

18. Recovery of a previously punished response vs. removing the value of a learned aversive condition by stopping the pairing procedure.

a. Please give an example of a punishment contingency, recovery from punishment, and a pairing procedure illustrating the establishment and removal of aversive value for a neutral stimulus.
ANSWER:
Reinforcement

Punishment

----------------------------------------

Reinforcement

Recovery

Pairing procedure used to ESTABLISH the buzzer as a learned aversive condition


Breaking the pairing procedure to REMOVE the value of the learned aversive condition


b. Using the preceding examples, please discuss the differences between allowing a response to recover and removing the aversive value of a learned aversive condition by stopping the pairing procedure.
NOTE: (you do not need to know this for the test, but it provides a rationale for why some people may confuse these two concepts)  

Similar to above, while breaking the pairing between a learned aversive condition and an unlearned aversive condition may lead to recovery; allowing a response to recover does not lead to the removal of the value of a learned aversive condition.  

For example: If you were to stop pairing shock with the buzzer, but continue to present Rudolph with the buzzer contingent upon lever presses, the lever press would recover.  However, allowing the response to recover (i.e. not presenting ANYTHING contingent upon a response; including either the buzzer or the shock) will not lead to the removal of the aversive value from the buzzer.  If, after recovery, the buzzer were to again be presented contingent upon a response (while occasionally being paired with shock) it will have retained its aversive value.

19. Rudolph the rat presses the lever and receives a drop of water.  A common confusion (for students, not so much for professionals which you are going to be) is that “Rudolph learns to press the lever, so water is a learned reinforcer.  Right?”

a. Where is it that students are failing to discriminate when they compare the concepts of a reinforcement contingency and a learned reinforcer?
20. The motivating operation for a learned reinforcer.

a. What is the common confusion?
b. What is the correct assumption?
c. Therefore, is it possible to satiate on learned reinforcers?
d. Please give an example of a reinforcement contingency in which a learned reinforcer is used.
Reinforcement

e. Discuss why a motivating operation performed on this learned reinforcer would not affect learning and performance.
21. Hedonic and instrumental learned reinforcers.

a. Briefly describe the Zimmerman and Hanford experiment.
b. How does this relate to hedonic learned reinforcers?
c. Bringing this concept back to the everyday world, how does the smile from a passing stranger illustrate the concept of a hedonic learned reinforcer?
d. Similarly, how does the finger from a passing stranger illustrate a hedonic aversive condition?
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